ST e
i Develop and draw a PERT Network for the problem
(i) Identify and exhibit the critical path

(i) Determine the total project completion time

Demand 30 35 408 g g
Probabilty 003 007 010 020 035 020 0.05.
Random Numbersare-46 69 94 g8 84 33 98 . ..30 7051

&,%4 compéhy needs 6000 units of a product per month. The product is purchased from outside for
ich ordering cost is Rs 200 per order. The cost of holding inventory Rs 15 per unit per month. How many

- “company is operative on 300 days inayear, what is the reorder point?

units should ;‘Tbébrdeyggz;wqgt is the cost? How many orders will be required ? Lead time is 10 days. If the

Q/Vﬁ The cost of an equipment is s. 10000. And maintenance cost in the first year is zero,"th_er_ejafter‘ it :
increase by Rs 2000 every year. When should the machine be replaced without considering ihéiime" value of
money? ; Toakit g g ; ' s

Year e e et Mens
Resslevalue - 20001500 1400 1200 1000, ‘0. 65k 900 900

Q.5 a Draw a network diagram for the activities given below:

Activity ;A C D E R in H [ J

Immediate ; ;

Predecessor :- A A A B C C EF DG  H,|
Duration

(months) :12 8 4 3 12 18 5 4 9 6



